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(x") = nx"" (c)=0 (x)' =1

1
-

(a®) =a’lna (e*) =e”
1 1
(log, x)' =—— (Inx)' ==
xIna X
(sinx) = cosx (tanx) = —
cos” x
(cosx) =-sinx (cotanx) = —— 1,
sin” x
' .y 1 , 1
(arcsinx)’ = (arctanx)’ = -
N1—x? 1+ x*
' 1 , 1
(arccosx) = — (arctanx)’ = — .
1—x* ‘ 1+x*
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+1+c (n # -1)

J.dx—: In |x[+ ¢
X

Jsin xdx = — ¢os x + ¢
.[cos xdx = s8in x + ¢

dx
J.—qztan x + c

cos ~ x

dx
J‘ﬁz—cot anx  + ¢
sin x
Itan xdx = — In lcos x(+c
Jcot anxdx = In ]sin x[—l- c
jexdx =e’ +¢

X

. a

_[a“‘dx = + ¢
In a

dx
j — = arctan x + c
1+ x°

dx 1 x
j 3 5— = —arctan —+ c
a” + x a a

dx 1 a + x
I 7 = In + c
a” — x 2a a — x

arcsin x + c

. X
arcsin —+ C
a

2

X + x 2+ a?’

= In. + c
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T an[-{] =1 = x=2Arctant] = dx = 2dt2
2 | 1+1¢
1-¢2 ' 2t
oslxl=11 7 =

DR 2

. —bCos [bx]+ aSin|bx]
' 2 2 *+C
a“+b
.. aCos [bx]+ bSin|bx]
7 5 +C
a” +b

[e® Sin[bx)dx = e

[e™Cos [bx]dx = e
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tane = colot = sa lana=sma
colo ng coso
i4colle = t 4+ lante = "11 sinfe + costa =1
sinoe cost

___cospsinfd =

cos{e * B) = cosa cos B F sine sin8

tanee — tanf
tan{c B) 1+ tano !anﬂ

coslor = cosio — sine

cotle - 1

ol =272
2coto

s P +cosio

cos o:=———-z—-

ging - sinfd = 25in & . B cos & ; B
cosa — cos - ~25inZ : B sinm_Z B

sina sinfl = -%[cns(a - ) - cos(a + )]

tﬂ'ﬂT =

Hsing Bz sin(e =

NIt WA 010Y

sin{e  B) = sincz cos B £ cosersinf3

fan(e + B) = tane + tan 8
{ - lang tanff
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-in2e = 25ina coso

2

tan?2cy =_.£n_.a__
1 - tane

.y 1 - cos2e

sin" @ = >

g l-cosa __ sina

- 5ina........_ | + cosx- -
FNPND Yham [w)inlv]

sina +sinfl = Zsina;ﬂcosa ; 4

cose + cosf3 = 2cas

a+f o-B8
2

COos
2

NPYPENS N9aIn

sinacos f = %_[si__nicr + ) +sin{a - )]

cosacosf3= -,li[cns(n' -f3)+cos{a+ )]




LABLE 6.1 kiementary Laplace [ranstorms

f@) = £HFE)} F(s) = Z{f ()} )
1
i < s>0
ea.t , sSa
§—a
sin at = e ., £>0
5% + a?
n!
t*, n = positive integer e s>0
T'(p + 1)
2,p > —1 ol £g>0
s
cos at 5 5 s >0
s+ a
- . a
sinh at gz ° > |al
5
cosh ar a_ g S > |a|
b
at o3 N —
e** sin bt Gt B s> a
ea,t Cosb.t_ SRR e g . g S S.>_-_ Ima. e et e et o £ A -
: (s —a@? + b’
; . n!
- t"eft, nn = positive integer ~——-———(S e g S g T T T T
e—cs
u, (1) Pl §>0
u, () (¢ — ) e S F(5)
e (1) F(s — ¢)
1 F 5 0
G N i b I I S
1 ‘ v
L f@ ~ gl dr F(5)G(s)
6(t — ¢) e
£ STF(s) — sPY(0) — - - - — fi1(0)
(=1 (1) Fm(s)




